EERRTE [\ U7

Through—type Terminal Block

o

E ' F . pitch 35mm

Fid

B B, F2077E-PKCA

E 1

Rating

AC600V  250A

R DC500V  1000MQ2 LA E
Iusulation Resistance|] DC500V 1000MSQ and over

it & E AC3000V 14 fELLE

Withstands Voltage AC3000V_1minute and over

L&
3 " Screw Diameter M10
AT
. . S R 38md~150mnf
27 35 5 30 Compatible Wire
| | | —fi% /2% General Tolerance +0.5
® : |RJ§/ScaIez/5 B /Unit mml
S—==5 | DDA E - 3 < S
. \YZAIWN AN N
[\
] ——] ——
© . . -
| I | ©
15 6.5 |
@{‘ 5 4 Q 3 6 )
| | el
I ! B =
| = -
SQ_ 1 1 =
1 1 1
o
~
— (3]
N N
C + \@
| | |
1 1 1
—_— —
ee]
|7 PIOIOIB)S
=l==I==] B i — (B r
I I I « Ordering Form:Type No. No.of Poles(P)
- R E R T B L2 12, ONem.
I1:I:$§/Specifications. * Connection screw:Tightening torque is 12.0N-m.
#8%/Part No. EBE/Part No. #E .~ Material #R#&  Standard <tik/Size S0 /Treatment {#% /Remark
il £ (A)  Base (A) PBT UL B4 Black
2 i1 (B)  Base(B) PBT UL AXAy¥  Tin-Plated B oM Black
3 P Base(©) PBT UL B A Black
4 HESHE Terninal Copper BOE 3.0 [=vFAAvF Nickel-Plated
5 FERRE R Screw Steel M10X1.5X200 [ =Z[7mA=} Trient Choncte Tretnent| PY. SWit 2 5 2 545 KL 1 Type@)
6 NFF > MHexagon nut Steel MI0X 1.5 24y m A= b T Chonde Trsoen
7 JHHE R L Reonnecting bolt Steel M4 X0.7X0 Zff7 A= b Trilent Chronde Treset F
8 kS~ b Connecting nut Steel M4 X0. 7 24y m A= b T Cronae Tresmen]
9 FEFBHR Marking strip KU A Polycarbonate UL W JE t1.0 SR White
10 9y 23— Cover KA Polycarbonate UL JE 1.5 % Bl Transparence
11 7973 IE A Cover Retaing scred P 8 Brass M3X0.5X80 |=v /WA % Nickel-Plated PLLSIE AR F Type®)
12 ANATF > b Hexagon nut Steel M3%0.5 ZH) A= Trivden Chronate Treamen
18%/Poles 1P 2 3 4 5 6 7 8 9 10 | 11
A 70 105 [ 140 | 175 | 210 | 245 | 280 | 315 | 350 | 385 [ 420
B 54 89 124 | 159 | 194 | 229 | 264 | 299 | 334 | 369 | 404
C 40 75 110 | 145 | 180 | 215 | 250 | 285 | 320 | 355 | 390




